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€
H6FE [NET/<»27<PHONE> (14E525)) 14 %é} - - F1GT—A 5,180/ (BiiA5,698M) 3,000[T] (BiiA3,30011) | B HGASE A 1k — i 2 02 <
£
H6fE |[NET/3»2Z<PHONE> (14E525) 14 %;A - — JE1Ga—A 5,180[1] (BiiA5,698M1) 3,000 (BiiA3,30011) | HTH HASE AHE 16— A 02 <
€
9% [NET/<»7<PHONE> (24 52#)) 24 EE — — 120M=1— X 3,980 (BiiA4,378M) 3,000 (BiiA3,30011) | B HGASE A 1k — i 2 02 <
£
HOME [NET/S»Z<PHONE> (24E325%) 24F E% - — 320M=1— % 4,680 (BiiA5,148M1) 3,000 (BiiA3,30011) | HTH HASE AHE 16— A D2 <
€
%98 [NET/<»7<PHONE> (24 52H)) 24 EE — — 1G—A%5 5,180 (BiiA5,698M) 3,000[T] (BiiA3,30011) | B HGASE A 1k — i 2 02 <
£
HIFE |[NET/3v7<PHONE> 2£E3%)) 24F E@ — — JE1Ga—A on 5,180[1] (BiiA5,6981) 3,000H (BiiA3,30011) | HTH HASE FHE 1L — A D -2<
£ auOMM)
%98 [NET/<»7<PHONE> (24 52#)) 24 EE — — F1GT—A 5,180/ (BiiA5,698M) 3,000[T] (BiiA3,30011) | BrHL HGASE A 1k — i a2 02 <
£
H81Ff|NET/3»2<J:COM STREAM FLIZRE [14E [#A [— — 120M=T—2% 3,980[1] (Biir4,37811) 3,000 (Bi3A3,300M9) [~
> (14E325) =2
HSIFE|NET 3 27<J:COM STREAM FLIZE 14 [#£A [— — 320M=t—A 4,680 (BiiA5,148M) 3,000 (BiiA3,30019) [~
> (14E2H9) e
HBIFE[NET /3 7<J:COM STREAM FLECE |14 |54 [— — 1GaT—A3%5 5,180 (BiiA5,69811) 3,000 (Bi3A3,300M9) |-
> (14E325) 5
HSIFE|NET 3 27<J:COM STREAM FLIZE [14F [#£A [— - F1GT—A 5,180 (BiiA5,698M) 3,000[T] (BiiA3,30019) [~
> (14E2259) e
82 [NET /3 7<J:COM STREAM FLHCE [24F | F4k [— — 120M=a— 2 3,980[1] (Biir4,37811) 3,000 (Bi3A3,300M9) |-
> (24E325) =2
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J:COM NET #—t 2%
(202246 H30H £ TIZZEHOBE S F)

MY =z B TIUM
20254ET 1 HEE

[ECIINER S 25 [E%€ [J:COM o— 2% (3%1) i H HEERIRBid) | HEERIHE(BLA) | S2R0fRBRe (Bl | ZAOMRREr (BLA) | (52)
MR [JERE |LINK/4K]B/SJB/STV
B%
Hi82ME|NET /37 <J:COM STREAM FLIZRE [24F [F4k [— — 320M=1— A 4,680 (BiiA5,148M) 3,000 (BiiA3,30019) [~
> (24E2H) e
82 [NET /3 7<J:COM STREAM FLECE 248 | F4k [— — 1GaT—A3%5 5,180 (BiiA5,69811) 3,000 (Bi3A3,300M9) |-
> (24E325) =2
Hi82ME|NET /37 <J:COM STREAM FLIZRE [24F [F4k [— — J1G21—A on 5,180 (FiiA5,698M) 3,0001 (BiiA3,30019) |-
> (24F3249) = auOM)
H582ffi[NET/32<J:COM STREAM FLIZRE [24F [kt [— — J1Ga—A 5,180[1] (BiiA5,698M1) 3,000 (BiiA3,30011) [~
> (24E525) =2
H1SHE[NET S ZEX (14E5249) 14 %ﬁ} STVB/STVB with% 7" | — 320M=1— A 4,680 (BiiA5,148M1) 3,000/ (FiiA3,300M9) [~
£ [Lyh
18T |NET/ Sy ZEX (142 5249) 14E |2 [STVB/STVB with# 7 |— 1Ga— A6 5,180 (BiiA5,6981) 3,000 (Bi3A3,300M9) |-
E2 [Lybk
FHE BV 7N (ERK) C%1) 145 ;;Eé.\ - TV+NET 40M=1—A 2,785 (FiiA3,06319) 4,000[T] (BiiA4,40019) |-
£
B BHEL 7N (ERK) CK1) e TV+NET 120M=—2 3,071H (BiiA3,3781) 4,000 (BiiA4,400M9) |-
=2
FLHE BV 7N (HEZK) C%1) 145 ;;Eé.\ - TV+NET 320M=1— %A 3,547H (BiiA3,90119) 4,000[T] (BiiA4,40019) |-
£
HELFE| AL (HERK) Gk1) 1 |ES |- TV+NET 1Ga— A6 4,047 (BiiA4,4511) 4,000 (Bi3A4,40011) [~
=2
FLHE BV 7N (HEZK) C%1) 14 ;;Eé.\ - TV+NET+TEL 40M=1— A 3,037M (FiiA3,34019) 4,000[T] (BiiA4,40019) |-
£
B BHEL 7N (ERE) CK1) e TV+NET+TEL 120M=T—2% 3,513 (BiiA3,86411) 4,000 (BiiA4,40011) [~
=2
FLHE BV 7N (LK) C%1) 145 ;;Eé.\ - TV+NET+TEL 320Ma— A 3,990 (FiiA4,389M) 4,000[T] (BiiA4,40009) |-
£
HELRE| AL (HERK) Gk1) 1E |ES |- TV+NET+TEL 1GaT—A3%6 4,490 (BiiA4,939M1) 4,000 (BiiA4,40011) [~
5
128 | BV IR (E2K) C%1) 24 EE — TV+NET 40M=T—A 2,785 (FiiA3,06319) 4,000[T] (BiiA4,40009) |-
£
F 128 BEHEL N R CK1) 20F [ [ — TV+NET 120M=T—2% 3,071H (BiiA3,37811) 4,000 (BiiA4,40011) [~
=2

B EMIRK-T



J:COM NET H—E 2

(202246 H30H £ TIZZEHOBE S F)

MY =z B TIUM
20254ET 1 HEE

[EGIINEES i%;ﬁ’% %;’é {ICI\'OK%KJB/SJB/ST\/ o— 2% (3%1) e HAERIE (Bid) | HAEERIRE (BOA) | SEROMRREREE (Bitk) | ZEAOBEEREL (BLA) | (fiF5)
B%
| 1278 e L 7 F QFE3KD) GK1) 24F E% - TV+NET 320M=1—2 3,547H] (BiiA3,901119) 4,000 (BiiA4,400M1) |-
F12fE | BV IR QFERR) CX1) 24F E% — TV+NET 1G—A3%6 4,047 (BiiA4,45117) 4,000/ (Biir4,4001) |-
|5 1278 2L 7R (QFE3KD) GK1) 24F E% - TV+NET+TEL 40M=1— A 3,037H] (BiiA3,340M1) 41,0001 (BiiA4,400M1) |-
B1ofE | BHEL 7R EFERF) (1) 24 E% - TVANET+TEL 120M=1—% 3,513[1 (BiA3,86411) 4,000 (Biir4,40011) |-
|5 1278 2L 7R (QFE3KD) GK1) 24F E% - TV+NET+TEL 320M=—A 3,990 (BiiA4,389M1) 41,0001 (BiiA4,400M1) |-
F 28| BEHEL N K CK1) 24F g% — TV+NET+TEL 1G—A3%6 4,490 (Biir4,93911) 4,000/ (BiiA4,400M1) [~
BRI e SUE T 14 %g - - 120M=t—*A 3,861 (BiiA4,2471) 4,000 (BiiA4,400M1) |-
IR (BT T (1FEER) 14E ﬁ/% - = 320Ma—% 4,528 (Biir4,98011) 4,0001 (BiA4,400M7) [~
ERE e U T 14 %g - - 1G1—R3%6 5,028 (BiiA5,53011) 41,0001 (BiiA4,400M1) |-
BATE |BHTT QHEIR) 24F E% — — 120M=1—% 3,861[1 (Biir4,2471) 4,0001 (BiA4,400M7) [~
AR | BT 5 CHRR) 24F E% - - 320M=1—A 4,528 (BiiA4,9801) 4,000 (BiiA4,400M1) |-
BATE |BHTT QHEIR) PES E% - — 1Ga—2%6 5,028[1 (BiiA5,53011) 4,0001 (Bi3A4,400M7) [~
F8THL %T—hm%wyffva(%é}{I 14 %g J:COM LINK/4KJB  |[TV+NET+TEL 40M=—2 3,037H (Blir3,3401) 4,000 (BiiA4,40011) |-
8T %7~#$5?%7r‘/%°7‘/l~“($%1i 14 ﬁ% J:COM LINK/4KJB  |TV+NET+TEL 120M=— A 3,51311] (BiiA3,86411) 4,0001 (Bi3A4,400M7) [~
F8THL %T—hm%wyffva(%é}{I 14 %g J:COM LINK/4KJB  |[TV+NET+TEL 320M=1—2 3,990 (Blir4,38911) 4,000 (BiiA4,400M1) |-
TR ?€T~h$sz%7r‘/%°v‘/l~“(iﬁ1f 14F ﬁ% J:COM LINK/4KJB  |TV+NET+TEL 1Ga—AZ3%5 4,490 (BiiA4,939117) 4,0001 (Biir4,40011) |-

B EHIRK-8



J:COM NET H—E 2

(202246 H30H £ TIZZEHOBE S F)

ERTINE A i%;g %%; {:ICI\'OK%KJB/SJB/ST\/ a—2E KD ihH HERIAE B | HEERIADR BUA) | Rkl (Bitl) | Z2RMBRE (BLA) | (R 2)
B%
8T %T—hm%wyffva(%é}& 14 {I%\ J:COM LINK/4KJB  [TV+NET 40M=1— A 2,785M] (BiiA3,06311) 4,000 (BiiA4,400119) [~
FeTHE %7~#$5?%7r‘/%°7‘/l~“($%1i 14 ﬁ% J:COM LINK/4K]JB  [TV+NET 120M=—2 3,071 (BiA3,37811) 4,000 (Biir4,40011) |-
8T %T—hm%wyffva(%é}& 14 %g J:COM LINK/4KJB  [TV+NET 320M=t—A 3,547H] (BiiA3,90111) 4,000/ (BiiA4,400M19) [~
H8THE ?€T~h$sz%7r‘/%°v‘/l~“(iﬁ1f 14E ﬁ% J:COM LINK/4KJB  [TV+NET 1Ga—A¥5 4,047 (BiiA4,45111) 4,000 (BiiA4,40011) -
8T %T—hm%wyffva(%é}{I 14 %g J:COM LINK/4KJB  [TV+NET+TEL JE1Ga—A 4,490 (BiiA4,939119) 4,000 (BiiA4,400M1) -
H8THE ?€T~h$sz%7r‘/%°v‘/l~“(iﬁ1f 14E ﬁ% J:COM LINK/4KJB  [TV+NET Je1Ga—A 4,047 (BiiA4,45111) 4,000 (BiiA4,400117) -
88T A~ — B TEA L T~ N QERR) 24 E% J:COM LINK/4KJB  [TV+NET+TEL 4OM=T—A 3,037 (BiiA3,34011) 4,000 (BiiA4,400M19) -
E8SHE| A~ — M THA L TR QEERR) (24 E%.MDMLWKMMB TV+NET+TEL 120Ma—2% 3,513M (BiiA3,8641) 4,000 (BiiA4,400M9) |-
88T A~ — B fEA L T~ N QERR) 24 E% J:COM LINK/4KJB  [TV+NET+TEL 320M=—A 3,990 (BiiA4,38911) 4,000 (BiiA4,40011) -
E8SHE| A~ — M THA L TR QEERK) (24 E% J:COM LINK/4KJB  [TV+NET+TEL 1Ga—A¥%5 41,4901 (Biir4,93911) 4,000 (BiiA4,4001) |-
F88HE| A~ — b AL T~ U R QFERK) |24 E%LHMUWMMB TV+NET+TEL ﬁgﬁ;xm 4,490 (BiiA4,9391) 4,000/ (BiiA4,400M19) [~
E8SHE| A~ — N THA L T~ R QEERK) (24 E%ymMmmMm TV+NET 4O0M=T—2A 2,785 (BiiA3,063M1) 4,000 (BiiA4,400M9) |-
FSSHE| A~ — B TA L T~ N QERR) 24 E% J:COM LINK/4KJB  [TV+NET 120M=— 2 3,071H] (BiiA3,378M1) 4,000 (BiiA4,400M19) [~
%ﬁxwﬂ%ﬁéwﬂw%wngimwuwmm’MWT 320M=1— A 3,547 (BiiA3,90111) 4,000 (BiiA4,40011) [~
H88HE| A~ — b AL T~ R QFERK) |24 E% J:COM LINK/4KJB  [TV+NET 1G—A%5 4,047H] (BiiA4,4511) 4,000 (BiiA4,400M19) [~
%ﬁxwﬂﬁﬁfwﬂw%wﬁigﬁmwuwmm’MWT ﬁgjﬁm 4,047F] (BiiA4,45111) 4,000 (BiiA4,40011) ]~
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J:COM NET #—E' 2R MY =z LI

(202246 H30H £ TIZZEHOBE S F) 2025471 1 B e
[ECIINER S 25 [E%€ [J:COM a— 25 (3% 1) i H HEERIRBid) | HEERIHE(BLA) | S2R0fRBRe (Bl | ZAOMRREr (BLA) | (52)
MR [JERE |LINK/4K]B/SJB/STV
B%
ST A~ — I BA T~ N QERR) 28 E&g J:COM LINK/4KJB  |[TV+NET+TEL J1G—R 4,490 (BiiA4,9391) 4,000/ (BiiA4,4001) [~
E

FR8HE| A~V —hBA L T~ U R Q) (245 [/F8E [J:COM LINK/4KJB  [TV+NET J1Ga—A 4,047M (BiiA4,45111) 4,0001 (Fiir4,40017) |-

=2

TR A~ — b L7 EAEE) 14 J:COM TV+NET+TEL 40M=1— A 3,037 (FiiA3,34019) 4,000 (BiiA4,40019) |-

E£H
{1 |LINK/4KJB/SJB

2T A~ — It EL 7 BEAEE) 4 |[#4 [1:coM TV+NET+TEL 120M=T—2% 3,513 (BiiA3,8641) 4,000 (BiiA4,400M9) |-
% |LINK/4KJB/SJB

TR A~ — bRV 7 EAEE) 4 |44 |J:CoM TV+NET+TEL 320M=t—A 3,990 (FiiA4,389M) 4,000[T] (BiiA4,40009) |-
{1 |LINK/4K]JB/SJB

BT A~ — 3L 7 EAEE) 4 %4 [1:coM TV+NET+TEL 1Ga—A¥5 4,490 (BiiA4,93911) 4,000[] (BiiA4,40011)
{E5 |LINK/4KJB/SJB

F2TRE| A~ — bRV 7 EAEE) 4 |44 |J:CcoM TV+NET 4OM=T—A 2,785 (BiiA3,06319) 4,000[T] (BiiA4,400) |-
{1 |LINK/4KJB/SJB
2T A~ — Rt EL 7 BEAEE) 4 |[#4 [1:coM TV+NET 120M=T— 2% 3,071H (BiiA3,378M) 4,000/ (BiiA4,4001) |-
{E5 |LINK/4KJB/SJB
F2TRE| A~ — bRV 7 EAEE) 4 |44 |J:CcoM TV+NET 320M=1—A 3,547H (BiiA3,9011) 4,000[T] (BiiA4,400H) |-
{1 |LINK/4KJB/SJB
2T A~ — It EL 7 BEAEE) 14 |[#4 [1:coM TV+NET 1Ga—A¥%5 4,047 (BiiA4,4511) 4,000 (BisA4,400M) |-
{E5 |LINK/4KJB/SJB
F2TRE| A~ —b L7 EAEE) 4 |44 |J:CcoM TV+NET+TEL F1Ga—A 4,490 (BiiA4,939M) 4,000[T] (FiiA4,400M9) |-
i€ |LINK/4KJB/SJB
2T A~ — Pt EL 7 BEAEE) 4 |[#4 [1:coM TV+NET Je1Ga—A 4,047H] (BiiA4,4511) 4,000 (BiiA4,400M9) |-
{E5 |LINK/4KJB/SJB
F28F| A~ — P EL 7 (24E25) 24 |[FAE |J:COM TV+NET+TEL 40M=1— A 3,037 (FiiA3,34019) 4,000 (BiiA4,40019) |-
{14 |LINK/4KJB/SJB/4K]
B/SJB with# 7Lk
F28% | A~ — It L 7k (4ERE)) 24 [JFRE [J:COM TV+NET+TEL 120M=T—2% 3,513[1] (BiiA3,8641) 4,000 (BiiA4,400M9) |-
5 |LINK/4KJB/SJB/4K]
B/SJB with# 7L wh
F28F| A~ — P EL 7 (24E25) 24 |[FAE |J:COM TV+NET+TEL 320M=t— A 3,990 (FiiA4,389M) 4,000 (BiiA4,40019) |-
{1 |LINK/4KJB/SJB/4K]
B/SJB with%# 7Lk
28T | A~ — R TFEL 7k QEERK) 24 [JFRE [J:COM TV+NET+TEL 1Ga—A¥%5 4,490 (BiiA4,939M) 4,000/ (BioA4,400M) |-

£ |LINK/4K]JB/SJB/4K]
B/SJB with# 7L wh
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J:COM NET H—E 2

(202246 H30H £ TIZZEHOBE S F)

MY =z B TIUM
20254ET 1 HEE

[ECIINER S 25 [E%€ [J:COM o— 2% (3%1) i H ARERIFDE(Bidk) | AZERUIE(BUA) | ZRAOMEBREL (Bidk) | SAMREREL (BLA) | (1 5)
MR [JERE |LINK/4K]B/SJB/STV
B%
F28FE| A~ — ML 7k (24E21) 24 |4 |J:COM TV+NET+TEL J1G21—A on 4,490 (BiiA4,939M) 4,000 (BiiA4,40019) [~
{3 |LINK/4KJB/SJB/4K] auln)
B/SJB with%# 7Lk
28T | A~ — 1L 7R QIR 24E [FFRE [J:COM TV+NET 40MT—A 2,785M] (BiiA3,06311) 4,000 (BiiA4,4001) |-
{E5 |LINK/4KJB/SJB/4K]
B/SJB with# 7L wh
F28F| A~ — P EL 7k (24E25) 24 |[FAE |J:COM TV+NET 120M=1— 2 3,071H (BiiA3,378M) 4,000[T] (BiiA4,4001) |-
{1 |LINK/4KJB/SJB/4K]
B/SJB with%# 7Lk
F28% | A~ — It L 7k (4ERE)) 24 [JFRE [J:COM TV+NET 320M=1— % 3,547H] (BiiA3,90111) 4,000/ (BiiA4,4001) |-
{E5 |LINK/4KJB/SJB/4K]
B/SJB with# 7L wh
F28F| A~ — P EL 7 (24E25) 24 |[FAE |J:cCoM TV+NET 1G—A%5 4,047M (BiiA4,451H) 4,000[T] (BiiA4,400M9) |-
{1 |LINK/4KJB/SJB/4K]
B/SJB with%# 7Lk
5 28FE | A~ — BV 7k (24EEK) 24 |FHE [J:COM TV+NET F1Ga—A on 4,047 (BiiA4,45111) 4,000 (BiiA4,400[7) |-
5 |LINK/4KJB/SJB/4K] auly
B/SJB with# 7L wh
F28F| A~ — P EL 7 (24E25) 24 |4 |J:COM TV+NET+TEL F1Ga—A 4,490 (BiiA4,939M) 4,000[T] (FiiA4,400M9) |-
{3 |LINK/4KJB/SJB/4K]
B/SJB with%# 7Lk
Ho8Fl| A~ — bR EL 7 QFEEK) 24E  [FAt [J:COM TV+NET Je1Ga—A 4,047M (BiiA4,451117) 4,00011 (Fiir4,40017) |-
{E5 |LINK/4KJB/SJB/4K]
B/SJB with# 7L wh
H2AM| A~—FPfF7F PHONE=—2  [I4E |4 [J:COM — 120M=1— 2 3,861 (BiiAd,247M) 4,000 (FiiA4,400M9) |-
AT {1 |LINK/4KJB/SJB
H24TE| A~—FBIFF T PHONE=—2  [14E |4 [J:COM — 320M=— A 4,5281] (BiiA4,9801) 4,000 (Fiir4,40017) |-
(EAET) 55 |LINK/4KJB/SJB
H2AMi| A~—FPfF7F PHONE=—2 |14 [#£A [J:COM — 1G—AX5 5,028/ (BiiA5,530117) 4,000 (BiiA4,40009) |-
EAREE) {1 |LINK/4KJB/SJB
HoAffi| A~—FB1F7T PHONE=—2  [14E |4 [J:COM — Je1Ga—A 5,028 1] (BiiA5,530M1) 4,000 (BiiA4,400M) |-
(EAET) 55 |LINK/4KJB/SJB
H25H| A~— P17 T PHONE=—= (2 [24E |4k [J:COM — 120M=— 2 3,861 (Biir4,247H) 4,000[T] (FiiA4,400M9) |-
EZH) % |LINK/4K]B/SJB/4K]
B/SJB with%# 7Lk
H25ffi| A~ — 17T PHONEa—2 (2 [24F | F#k [J:COM — 320M=— A 4,528 (BiiA4,98011) 4,0001 (Fiir4,4001) |-
FEHL) £ |LINK/4K]B/SJB/4K]
B/SJB with# 7Lk
Hi25H| A~— P17 T PHONE=—= (2 [24E |4k [J:COM — 1G—A%5 5,028/ (BiiA5,53019) 4,000[T] (BiiA4,4000) |-
EH) % |LINK/4K]B/SJB/4K]
B/SJB with%# 7Lk
25T A~ —RBIF 7T PHONE=— 2 (2 [248 [F 2 |J:COM — JE1G=—2 on 5,028/1 (BiiA5,53011) 4,000 (FiiA4,40017) |-
AEIH) £ |LINK/4K]JB/SJB/4K] auO0
B/SJB with# 7L wh
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J:COM NET #—t 2%
(202246 H30H £ TIZZEHOBE S F)

MY =z B TIUM
20254ET 1 HEE

[ECIINER S 25 [E%€ [J:COM o— 2% (3%1) i H HEERIRBid) | HEERIHE(BLA) | S2R0fRBRe (Bl | ZAOMRREr (BLA) | (52)
MR [JERE |LINK/4K]B/SJB/STV
B%
H25M| A~ — P17 T PHONE=—2 (2 [248 |4k [J:COM — F1Ga—= 5,028/ (BiiA5,53019) 4,000 (BiiA4,400H) [~
EH) % |LINK/4K]B/SJB/4K]
B/SJB with%# 7Lk
E3FE|A~—FBIFT T STREAMa—2  [14E [#4 [J:COM — 120M=—A 3,861 (Fiir4,2471) 4,0001 (Fiir4,40017) |-
(AT 55 |LINK/4KJB/SJB
H31ME| A~—FPfF7F STREAM=—=2 |14 [#£4A [J:COM — 320M=— A 4,528/ (BiiA4,98011) 4,000 (FiiA4,400M9) |-
EAREE) {1 |LINK/4KJB/SJB
H31ffi| A~—FB1F7F STREAMa—2  [14E |4 [J:COM — 1Ga—A3%5 5,028[T] (BiiA5,530M1) 4,000/ (BiiA4,40011) [~
(EAET) 55 |LINK/4KJB/SJB
H31ME| A~—FPfF7F STREAMa—= |14 [#£4A [J:COM — J1GT—R 5,028 (BiiA5,530117) 4,000/ (BiiA4,40009) |-
EAREE) {1 |LINK/4KJB/SJB
H32ffi| A~ —FB1F7F STREAMa—2  [24E | F#k [J:COM — 120M=a—A 3,861 (Fiir4,2471) 4,0001 (Fiir4,40017) |-
(24FE529) £ |LINK/4K]B/SJB/4K]
B/SJB with# 7Lk
Hi32Mi| A~ —FPfF7F STREAM=—=  [248 |4k [J:COM — 320M=1— A 4,528/ (FiiA4,98019) 4,000[T] (FiiA4,400M9) |-
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